Exam Advanced Logic (211109)

14 April 2009
13:30-17:00

Remarks:

e All exercises weigh equally heavy towards the grade

» Allowed material: Dutch book and course notes or equivalent books in English,
and the slides from the lectures, No personal notes!

Exercise 1

Prove the following two formulae in propositional logic:
I.pv-p
2. (pVa) = (p—q)

a. using semantic tableaux (abbreviated notation is allowed);

b. using natural deduction (indicating all rule names and discharged assumptions).

Exercise 2

Establish using semantic tableaux whether

L. -p—=(gAr)/q—p
2 p—o-gqVvr/{(-pA-w)—gq

are valid inferences. If not, give a counter-example.

Exercise 3

Prove using induction that no propositional formula ¢ has a pair of adjacent parantheses

(()’ OI' ‘)(’.
Exercise 4
Prove the inference
Jz(Az A Bx),Vy(By — -Cy) [ ~Vz(Az — Cz)

a, Using a semantic tableau (abbreviated notation is allowed);

b. Using natural deduction (including rule names and discharged assumptions).



Exercise 5

In this exercise, you may use the auxiliary functions S (successor), A (addition), P
(product), Z (zero test) and Q (predecessor) discussed in the course notes and the slides,
but not recursion.

1. Define a A-term L that, when applied to two Church numerals m and n, reduces
to true if m < n and to false otherwise.

2. Demonstrate the correctness of your solution by showing L 01 —» true

Exercise 6

1. ‘What does it mean for a A-term Y to be a (correct) fixpoint combinator?
2. Show the correctness of the Turing fixpoint combinator:

Yr=(0cff @ HReff(@sf)) -

Exercise 7

1. Stepwise transform Afz. f z into a combinator term €, using the rules discussed
in the lecture and described in the course notes.

2. Show that O M N = M N for arbitrary M and N (where C' is the combinator
term of the previous clause)

Exercise 8
Regard the following formula:
(A= B)A(A=C)) — (A= (BAD))

1. Prove this formula using natural deduction

2. Give a A-term with a type corresponding to this formula, using the constructions
(M, N}, m M and w3 M (and their typing) where required

3. Give a type derivation for this A-term



Exam XML & Databases [211096]
Wednesday April 15, 2009; 09:00 - 12:30 h.
Allowed on exam: slides, reader, print outs, notes on paper
Not allowed on exam: electronic devices

About the exam

There are 10 questions. For each question, an indication of the associated paper from the
reader is given, if appropriate. Morcover, the number of points for each question is
mentioned. The points add up to a total of 90 points. You receive 10 points bonus for
showing up at the exam. The final grade is determined by dividing the total score by 10.

1 Relational Data

Question 1 (13 points)

[Paper A] Given the relational

schema at the right:

a) Give an SQL/XML query
that produces Order
elements, and within those
elements product
elements. All relational
attributes ending in “ID”
have to be XML attributes
in the result. All other
relational attributes have
to be XML elements.

b} Will the resulting XML
data under a) contain all
data from the relational
database? Explain your

answer.

ORDER
‘QRDERID Longlnteger
ORDERDATE  DateTime
SHIFDATE DateTime

ORDERID - ORDERID

ITEM
ITEMID Lopginteger
ORDERID Longinteger
FRODUCTID Longlnteger
QUANTITY Lengintegar

PROBUCTID = FROBUCTID

BRODUCT
PRODUCTID Longlnteger
PRODUCTNAME Texi(50)
DESCRIFTION Text(100)
PRICE Cumiancy

¢) Give an XQuery query that takes the standard XML mapping, and produces the
same results as under question a).




2 XML Data

Consider the following XML document (recipes.xml):

<?xml version="1.0" encoding="iso-8859-1"7>
<!DOCTYPE recipe [
<1ELEMENT recipe (title, ingredient+, instructions)s
<!ELEMENT instructions ({step+) >
<!ELEMENT title (#PCDATA) >
<!ELEMENT ingredient (#PCDATA} >
<!ELEMENT step (#PCDATA) >
<!ATTLIST recipe prep time CDATA #REQUIRED cook time CDATA #REQUIRED>
<!ATTLIST ingredient amount CDATA #REQUIRED unit CDATA #REQUIRED>
] =
<recipe prep time="S mins" cook time="3 hours"s
<title>Basic bread</titles>
<ingredient amount="8" unit="dL">Flour</ingredientx
<ingredient amount="10" unit="grams"sYeast</ingredients
<ingredient amount="4" unit="dL">Warm water</ingredients
<ingredient amount="1" unit="teaspoon®>Salt«</ingredients>
<instructionss>
<step>Mix all ingredients together.</step:>
<gtep>Knead thoroughly.</step>
<step>Cover with a cloth, and leave for one hour in warm room. </steps>
<step>Knead again.</step>
<step>Place in a bread baking tin.</steps>
<step=Cover with a cloth, and leave for one hour in warm room. </step>
<step>Bake in the oven at 180 (degrees)C for 30 minutes.</steps>
</instructionss>
</recipe>

Question 2 (14 points)
[XQuery] Give XQuery queries that are as short as possible for the questions below. Note

that the queries need to properly answer the questions for any document that is valid
according to the embedded DTD of recipes.xmi, i.e., not only for the given document.

a) All distinct units in which “Salt” is measured,

b} An overview of all recipes with prep_time, cook_time, title, number of
ingredients and number of steps.

¢} An overview that per ingredient lists all recipes in which it plays a role.

Question 3 (8 points)

[Paper D] Derive a relational database schema from the embedded DTD of recipes.xml by the
following steps:

a) Give the simplified DTD.

b) Give the DTD graph of the simplified DTD.

¢) Derive the relational schema from the DTD graph using the shared inlining
technigue.



Question 4 (14 points)

[Paper E/F] Paper E defines three order encoding methods for representing XML’s ordered
data model: Global Order, Local Order en Dewey Order. Furthermore, the paper considers
two cases: when the schema of the input documents is unknown (the schema-less case) and
when the schema is known (the schema-aware case). Finally, the paper addresses three guery
types: Unordered Selection, Ordered Selection, and Reconstruction.

a) Which of the three methods is used by paper F: “Accelerating XPath location
Steps”? Explain your answer

b) Which of the two cases is considered by paper F? Explain your answer.

¢) Which of the three query types is addressed by paper F? Explain your answer.

Question 5 (19 points)
Given the following query: //recipe(title="Basic bread"]/instructions

[Paper F/G] Follow the XPath Accelerator approach to answer the following question:
a) How many nodes does recipe.xml produce in the document table (Paper F: table
“accel”; Paper G: table “doc”)? Explain your answer-.
b) Give the corresponding SQL-query to evaluate the above XPath-query.

[Paper S] Follow the Timber approach to answer the following questions:
¢) Give the TAX query plan for this query including, if needed, the pattern trees,
adornment lists, project lists, etc.
d) For each pattern tree, give the witness trees.

Question 6 (8 points)
[paper Y and Z]

a) Paper Z describes 2 alternative approaches for implementating text search in
XQuery by “extending XQuery with full-text functions . Does PF/T. ijah follow one
of these approaches, and if so, which of the 2 approaches? Explain your answer.

b) Suppose we want to retrieve a ranked list of titles from the best matching
Wikipedia articles about “high protein flour” with the Jollowing PF/Tijah query:

let 5d := collection{"recipes")
return tijah-query(sd, "//recipelabout(., high protein flour)I") /title

¢) Given that the syntax of the query is corvect, explain why the query does not give
the desired result.

d) Suppose we want to retrieve the same ranked list as under b) with the following
XQuery Full-Text query:

let $d := collection("recipes")

for $a in $d4//article[. fteobntains {"high protein flour"}]
return Sa/title

e) Given that the syntax of the query is correct, explain why this query does not give
the desired result.



Question 7 (9 points)
[Paper O] Suppose new recipes are broad-casted as an XML stream of recipe-elements (e.g.,
an RSS-feed) according to the given embedded DTD.

a) Suppose there are 4 users (Ul, U2, U3, and U4) who are interested in being
notified whenever there is a new recipe. Draw the corresponding Finite State
Machine (FSM) according fo the YFilter approach.

b) Suppose we have a 5" user who is only interested in recipes that have more than 3
ingredients. YFilter as described in the paper only supports child and descendant
axes, but no counting of children. Discuss how the technique could be extended to
also support counting.

Question 8 (5 points)

[Paper W] Suppose we have 3 servers running an XML DBMS supporting Bulk XRPC. Each
server contains an XQuery module with the functions and variables as given below. The idea
is simple: server A calculates for the numbers $i from 1 to 100 the formula $bf * $i + $cf * 1.
The complication is that the factors $bf and $cf are hidden and only known to servers B and
C respectively. There are two methods of caleulation: (1) A asks B which in turn asks C
(functions al, bl, and c), or (2) A asks B and C directly (functions a2, b2, ¢).

Server A:
declare function al() as xs:integer
{ for $i in (I to 100) return execute at {B} {bl($i)} }
declare function a2() as xs:integer {
{ for $i in {1 to 100)
return execute at {B} {b2($i)} + execute at {C} {c(si)} }

Server B:

declare variable $bf := 5;

declare function bl($i as xs:integer} as xs:integer
{ $bf * $i + execute at {C} {e(si)} }
declare function b2($i as xs:integer) as xs:integer { $bf * $i }

Server C:

declare variakble Sef := 3;
declare function c($i as xs:integer) as xs:integer { $cf +* $i }

a) How many messages are being sent between A<>B, B<=C, and A—C “for
calculation method (1)? Explain your answer.

b} How many messages are being sent between A<>B, B<>C, and A<Cfor
calculation method (2)? Explain your answer.

¢} Both calculation methods hide factors $bf and $cf in their respective servers, i.e.,
server A does rot need to know them. An alternative calculation method would be
that server A asks B and C for the value §bf and $cf and do the rest of the
calculation itself. What do you expect regarding execution time: a big
improvement, a small improvement, a small worsening, or a big worsening?
Explain your answer.



Kenmerk: EWI09/TW/SP/024
Datum: 26 maart 2009

Tentamen Kansrekening en Statistiek voor INF en TEL (153008)
donderdag 9 april 2009 van 13.30 - 16.30 uur

Dit tentamen bestaat vit 6 opgaven en gaat vergezeld van een formuleblad
en tabellen. Vermeld ook uw studentnummer en uw studierichting op werk
en tentamenbriefje.

1. In een zeker land bezit 90% van alle huishoudens tenminste één mobiele
telefoon. Bij 80% van de huishoudens met een mobiele telefoon is ook een
computer aanwezig. Tenslotte is bekend dat slechts 10% van de huishoudens
zonder mobiele telefoon in het bezit is van een computer.

a. Hoe groot is de kans dat in een huishouden noch een computer noch een
mobiele telefoon aanwezig is? -

b. Hoe groot is de kans dat in een huishouden met een computer geen mobiele
telefoon aanwezig is?

2. De simultane kansfunctie van X en Y wordt gegeven door de volgende tabel:

z\y| 0 1 2
0 | 015|005 |0.20
1 |0.05(06.20]0.05
2 1020 0.05|0.05

a. Bepaal de kansverdeling van X + Y.

b. Bereken E(X) en var(X).
¢. Bereken p(X,Y).
d. Bereken E(X|Y = 2).

3. We modelleren de bedieningsduur van een klant bij een loket als een ex-
ponentieel verdeelde stochastische variabele X met een verwachting van 4
(minuten).

a. Bereken P(X > 8), de kans dat een bediening langer duurt dan 8 minuten.

b. Bepaal de verwachte bedieningsduur van een klant als gegeven is dat de
bediening van die klant op zeker moment al 4 minuten bezig is.

c. Bepaal de verwachting van het maximum van X en 4.
d. Bepaal de kansdichtheid van ¥ = v X.

4. Een zekere brug kan een gewicht dragen van maximaal 1000 kg. Veronder-
stel dat het gewicht van een willekeurig persoon normaal verdeeld is met een
verwachting van 75 (kg) en een variantie van 100 (kg?). De gewichten van
n willekeurige personen worden gerepresenteerd door de (onderling onafhan-
kelijke) stochastische variabelen X1, ..., X,,. De stochastische variabele X is
het gemiddelde gewicht van de groep.

2.0.Z.



a. Geef de kansverdeling van X.

b. Bepaal (met behulp van een tabel) de kans dat de brug breekt als er zich
12 mensen op de brug begeven.

Stel nu dat het gewicht van een willekeurig persoon uniform verdeeld is op
het interval [a, b].

c. Bepaal a en b zodanig dat E(X7) = 75 en var(X )= 100.

d. Veronderstel dat @ en b zijn zoals in onderdeel c. Gebruik de Centrale
Limietstelling en een tabel om te bepalen hoeveel personen er maximaal
op de brug mogen opdat de kans dat de brug breekt kleiner is dan 0.001.

5. Een opiniepeiler wil onderzoeken wat de fractie p is van de Nederlandse kie-
zers die voorstander zijn van het verhogen van de AOW-leeftijd en is daarom
van plan n willekeurige Nederlanderse kiezers om hun mening ter zake te vra-
gen. Zij X het aantal voorstanders van verhoging in het onderzoek, dan is
p= % de meest aannemelijke schatter van p.

a. Geef de verwachting en de variantie van 3.
b. Geef de definitie van verwachte kwadratische fout en bepaal deze voor p.

c. Als we een (benaderd) 95%-betrouwbaarheidsinterval voor p willen bepa-
len met een breedte van maximaal 0.02, wat dient dan de steekproefomn-
vang n te zijn?

6. Een bedrijf introduceert een nieuw type plastic folie voor industrieel gebruik
en beweert dat de verwachte drukweerstand van het nieuwe product groter
is dan 26.5 (psi). Metingen van de drukweerstand bij een aselecte steekproef
van 16 stukken folie nit de productie levert een steekproefgemiddelde van
28.25 en een steekproefvariantie van 14.44 op.

a. Bepaal een 95%-betrouwbaarheidsinterval voor de verwachte drukweer-
stand, aannemend dat de drukweerstand normaal verdeeld is.

b. Bepaal een 95%-voorspellingsinterval voor de drukweerstand van een ge-
heel nieuw stuk folie.

c. Toets met een onbetrouwbaarheid van 5% of de bewering van het bedrijf
op grond van het onderzoek terecht kan worden genoemd,

Normering:
1 2 3 4 5 6
a|blajblcid|la|bjc|d|a|b|c|d|alb|cialb]c
2121212 |3|2|2|2|2|3|2|2|2(3|2]2(3|2]|1]4

- [ - - - = - — — —_— ——

Tentamencijfer: T—°41—-‘§1-§‘-1 x9+1

Het eindcijfer is het gewogen gemiddelde van het tentamencijfer en de opdracht-
cijfers die hoger zijn dan het tentamencijfer. Elk opdrachtcijfer hoger dan het
tentamencijfer telt voor 5% mee.





